R PROFESSIONAL EXAMINATION BOARD
Bb@xominqtion Sub Engineer Recruitment Test - 2017
ol 08th July 2017 ,09:00 AM

Topic:- General Knowledge

1) Which of the following is NOT a fundamental right as per the Indian Constitution? /

frafifEd 3 @ 919 a1 yRdT U & R e Aifes fferR T8 82
1. Right to Property / T &1 UBR

2. Right to Freedom of Expression / 3ifiyeafad &1 Wdadr &1 UHR

3. Right to Equality / GHAT BT SYBR

4. Right to Life / Sita- BT HTIHR

Correct Answer :-

« Right to Property / T BT UBR

2) Who won the 2017 ICC Champions Trophy? / 2017 3Tg T SfUa™ gfw! fram sii<t?
1. Sri Lanka / STciep

2. Bangladesh / CIESIER

3. Pakistan / QT

4. India / HRd

Correct Answer :-

« Pakistan / UTfoh =

3) Who founded Shantiniketan? / RTifafd =T @1 RITYAT foa 12
1. Rabindranath Tagore / R 1Y TR

2. Manabendra Nath Roy / AHdg A1 G

3. Raja Ram Mohan Roy / XTuIT TH BRI

4. Debendranath Tagore / w5 Y SR



Correct Answer :-

« Rabindranath Tagore / famg 1Y IR

4) Which day is celebrated on 21st June? /21 Gfra?rﬁqmﬁawmm%?
1. World Laughter Day / fay g faaw

2. World Forestry Day / fay ot fgag

3. World Yoga Day/ﬁ%’?ﬂ'ﬂﬁfm

4, World Cancer Day/ﬁ%’wm

Correct Answer :-

. World Yoga Day / fay an faag

5) Which one of the following cities has become the first Indian city to offer 1Gbps
wired broadband internet service? / 19 & @ P I1 TP @R 164ty aR goa sisds
greX-c 94T ¢ aTdT UYH URAH X6 a2

1. Hyderabad / %awa

2. Pune /H@[

3. Mumbai / 483
4. Delhi / fawtt

Correct Answer :-

« Hyderabad / %awa

6) Which one of the following places is famous for Chikankari work? | RIeor 19

& fore g & @ i ot ore w82
1. Patna / UcHIl
2. Lucknow / ¢33

3. Kolkata / ®IcabTdl
4. Jaipur / SIgYR

Correct Answer :-

« Lucknow / dTd13H



7) Which one of the following teams won the 10th Indian Premier League (IPL) trophy?

/o § frw we 1 A 109 S iftrae ot (amiea) e Tt s
1. Kolkata Knight Riders / @Il AT3C A38Y

2. Mumbeai Indians / ﬁa's‘ fedg

3. Gujarat Lions / 1[SIRTd SIRESI

4. Sunrisers Hyderabad / {-I"RI‘.i\ﬂ‘{-Ir %QQIGIIC'(

Correct Answer :-

e Mumbai Indians / H_q'_it 3%‘1“\4

8) Who is the Director General of the Central Reserve Police Force (CRPF)? | BRI

frord gfera sa *emdiew) & werfedwe #1982
1. VK. Joshi / 1. S=ft

2. Prakash Mishra / UaTT fHST

3. Dilip Trivedi / f&cfia Bad

4. Rajiv Rai Bhatnagar / ITeiid I HeATR

Correct Answer :-

. Rajiv Rai Bhatnagar / TSild I HeATR

9) Who won the 1999 Cricket World Cup? / 1999 fpdre fay @ foam sitan?

1. England /3'@3’
2. Australia / &@ﬁﬂiﬂ

3. South Africa / Gf&TUT 3ThIhT
4. India / HIRd

Correct Answer :-

« Australia / &I}I"\%ﬁiﬂ'{

10) The Sessa Orchid Sanctuary is located in which one of the following states? / T

er"rﬁmmmmﬁmﬁﬁmwwﬁm%?



1. Arunachal Pradesh / 31UITed UG
2. Tamil Nadu / diHeHTrg

3. Odisha / 3fIT&RM

4. Karnataka / &Ilcd

Correct Answer :-

« Arunachal Pradesh / 315U Ue Rl

11) India recently signed twelve Memoranda of Understanding (MoU) and Agreements
in May 2017 with which one of the following countries / Wﬁmﬁﬁﬁ'ﬁﬁ'@ﬁ%&ﬁ

U 5T =1 & 1Y, 1% 2017 BT IRE JHSAGT U (THIARY) W gT&R [He?
1. China / 94

2. France / Wi

3. Italy / 3call

4, Germany / S

Correct Answer :-

« Germany / ST

12) India’s longest bridge “Dhola-Sadia Bridge” has built over which tributary of the

Brahmaputra River? / HRd & I9d @d gd gra-afea Y I fFrmtor EICRE] Tt ot fv
SUE & SR fHar mar g2

1. Subansiri River/ﬂﬁﬁmﬁ

2. Manas River / AT Al

3. Lohit River / alifgd 71}

4. Kameng River / BTHT 9

Correct Answer :-

« Lohit River / @ifgd Al

13) Which one of the following sports is considered as state sport of Madhya Pradesh? /

fFrafefad @l & A 5 AU $1 Iy Qe AT ST 872
1. Kabaddi / gl



2. Boxing / A el

3. Malakhamb / Aol d

4. Wrestling/?ﬁ_vﬁ

Correct Answer :-

« Malakhamb / HQd

14) Who built the Qutub Minar at Delhi? / el # $ga HAR HT1 fmfor fFa= swamr
1. Akbar / {hdR

2. Khizr Khan /@Tﬂ’@\f

3. Shah Jahan /Qﬂ%ﬁﬁ

4. Qutbuddin Aibak / eI UadH
Correct Answer :-

. Qutbuddin Aibak / $ddg 1 Uddh

15) Which one of the following cities is known as ‘Electronic City of India’? / e kank:|
MY "HRA HT AT P RMeX' & ATH A ST SITdT 82

1. Pune / H&f

2. Noida / TTST

3. Hyderabad / 831G
4. Bangalore / SR

Correct Answer :-

« Bangalore / SR

16) Which one of the following is the oldest monument? / /% H 9 B a1 aa ORTAT HR D

8?2

1. Taj Mahal / dIsiHg <l

2. Ajanta Caves / 3fSidl 1T
3. Amer Fort / 3{TER fabefl



4. Mehrangarh Fort / HgRI-Tg fobell

Correct Answer :-

. Ajanta Caves / 3Sidll T[0TU

Topic:- General Hindi

1) «fave IR AT g A § 9 DI 91 a1 82
1. Ty arem
2. IR IR

3. g Yah I

4. Febl YIeh AT

Correct Answer :-

. Y @D IR

2) <31 A AT TEY AT ST § i A1 ared 82
1. Yraared

2. FHard

3. 399 Y DI AT

4. HYHITT

Correct Answer :-

3) «3fGA H B AT U g2
1. TSN JAN

2. 3{TIHTE THY

3. HUYRY U

4. fg7 qa

Correct Answer :-



4) Frf fiw A g & A f=ard [
A € T A & B A A A 21 1°H I T SR 82

1. TP ADBR
2. Jffa=mAIfad sfdidR
3. T 3ABPR
4. Yqg 3MPR

Correct Answer :-

5) «“Haa W Wgad Wi &7 19 Ja150?
1. gfg Sfd

2. ot fy

3. o iy

4. 31ATTG HfY

Correct Answer :-

6) “g®” Yy 4 Affa s 2 |

1. YPor]
2. P dRI
3. QPR
4. QHTTH

Correct Answer :-

7) «o1 qul oig Y @ Feraa dT S & |



1. 991 9§ Ugdl W &
2. 99 & qHY a9l g1

3. feamar &
4. HY Std- R Igar Ad g |

Correct Answer :-

. Y Std" R Iedr AY 2|

8) e BT Iaard § |
1. 3ol

2. 98

3. gl

4. 7R

Correct Answer :-

9) ford SreR I A BN |
1. FIRAR

2. FReR

3. fiffe

4. FRIBR

Correct Answer :-

. fReR

10) ol qTH 8 |
1. g

2.

3. QT

4.3d




Correct Answer :-

El

11) ¥ie B AT 9Tl |
1. AlerTd
2. TANTd

3. UdNTd
4, 3{ITd

Correct Answer :-

o UdNId

12) 3MYR HI faeH g |
1. 4R
2. TR

3. YR
4. FTRUR

Correct Answer :-

. MRIYR

13) 399 | P9 A} 3¢ T afar g2
1.3,Y, W, H

2. 1, 7, T, T

3. ST A PIS a1

4.9, 9,<q, ]l

Correct Answer :-

.« 9.9,¢.8I

NYORD0



fpaed ®Ig ggwaf 3mad |
AfHY P A P 3ITH, fdg ubRs yrad | F P IIIT 82

1. ]I I
2.8y
3. dlcqg XY
4. Y 9

Correct Answer :-

o diHURY

Topic:- General English

1) Choose appropriate articles for the given sentence:

Petroleum Ministry has proposed increase of Re.1 per litre of petrol with effect from
midnight.

1. A an
2. An, the
3.Aa

4. The, an

Correct Answer :-

2) Choose the appropriate preposition for the given sentence:

It is not really safe to drive down unearthly hours.

1. across
2.in

3.0n

4. during

Correct Answer :-

e during



3) Choose the word that is opposite in meaning to the word highlighted in the following sentence:

The leader of the religious sect does not deserve the adulation he receives.
1. applause

2. criticism

3. childishness

4, shameful

Correct Answer :-
e criticism

4) Choose the word that is closest in meaning to the word highlighted in the following sentence:

The drought will aggravate our food problems.
1. develop

2. ameliorate

3. worsen

4, control

Correct Answer :-

® worsen

5) Choose the option that correctly sequences the following phrases:

. he was very talkative
. but later

. on first acquaintance
. shy and modest

. he seemed

v B W N R

1. 12345

2.54321

3. 35421

4. 23415

Correct Answer :-



e 35421

6) Choose the correct form of phrasal verb for the given sentence:

Why are people crowding around? What's ___~ ?
1. happening up

2. going on

3. going off

4. getting up

Correct Answer :-

e going on

7) Choose the correct form of tense for the given sentence

My father ____ George quite well; they were introduced to each other at a wedding.
1. had been recognizing

2. was recognizing

3. recognizes

4. is recognizing

Correct Answer :-

e recognizes

8) Choose the correct form of linker for the given sentence:

Though there was little evidence against him; ____, he was convicted.
1. besides

2.s0

3. yet

4, after

Correct Answer :-



9) Choose the most suitable determiner for the given sentence:

Isthere ___ buttermilk in the cooler?
1. little

2. much

3. any

4, few

Correct Answer :-

e any

10) Choose the correct sentence from the sentences given below:
1. The child have received the punishment.

2. The child has receive the punishment.

3. The child received the punishment.

4. Child received the punishment.

Correct Answer :-
e The child received the punishment.

11) Choose the right tag

She hasn'tcomevyet,  ?
1. hasn't she

2. haven't she

3. doesn't she

4, has she

Correct Answer :-

e has she

12) Complete the sentence choosing the right option:

They could not help leave the car at the road side, where it had broken down.



1. unless
2. than
3. instead of

4, but

Correct Answer :-
e but

13) Complete the sentence choosing the right form of Prefix:

Peter let his soda sit so long that the fizz went out and itwas _______carbonated.
1. un
2. de
3.re

4, dis

Correct Answer :-
e de

14) Spot the error in the given sentence:

Irregardless of what you say, you will still be suspected.
1. no error

2. Irregardless

3. of what you say

4. you will still be suspected.

Correct Answer :-

e lrregardless

Topic:- General Mathematics

1)



Solve : / el & :

2.2
3.9

4.5

Correct Answer :-

2l

i
()~
1. ‘:]
3
2
2.
3
(535
3.
3. —
G
4,

Correct Answer :-

c®
3) 1 3 1 1 3
If(lx—;}=5Jhenthevaluenfﬂx- s A | T (EK—;)=5%=(_‘W3K' -

— & A = el




1. 140
2. 165
3.98

4. 106

Correct Answer :-

« 140

4)

Simplify and express E X 23—5 e %K % as a rational number in the form of p/g. /p/q & ®9

#vwm oRAT T & w9 A IxT+3x 20 2x D Y WA aW SuEd |

5 3 4 5

21

20
1.

13

12
2.

1 i |

10
3.

9

16
4.

Correct Answer :-

5) Using Euler's formula find the number of faces if the vertices are 12 and edges are 30./ Y¢IX

& G BT YN HIP J1d B+ & gfe MW 12 3R fFIR 30 €, O word fpaq g
1.20
2.10
3.15

4.25



Correct Answer :-

« 20

6) A boy scored 125 marks and 140 marKks in the first test and the second test respectively. If the
maximum mark in each test is 150, then the percentage increase in his performance is

./ TP TSP A UYH Theor 3R fgefra udheror & wH: 125 3 140 3P Ut
?au gfe Ul Tdteor § Sifireaw e 150 8, O 3T TSR H g8 ufawd gfS
|

1. 5%
2.15%
3.25%

4. 10%

Correct Answer :-

« 10%

7) State the degree of the following algebraic expression. / FFrafaRaa Sionfrda se &t
°Td J1d DY

8)(3’y6 -5 xsy2 - Sx?’y2
1.6
2.9
3.8

4.5

Correct Answer :-

8) Which one of the following is a factor of 625x5 - 256x27 / Fefaf@a A & P 625x5 - 256x>
P T UHES 32

1.5x% - 4
2.5x+4

3.25x + 16



4.25x - 16

Correct Answer :-

. 5X+4

9) If the diagonals of a rhombus are 24cm and 10cm, then the perimeter of the rhombus is

guﬁwmﬁa%ﬁwﬁzﬁ:ﬂaﬁmoﬁtﬁ%‘,aﬁmﬁﬁmw
|

1. 48cm / 48 I
2. 52cm / 52 THT
3. 40cm / 40 I
4. 56cm / 56 TH

Correct Answer :-

. 52cm/ 52 THET

10) If the coordinates of the centre and a point on the circle are C(3 , -4) and A(-2, 1)
respectively, then the radius of the circle ‘r’ = i qﬁ Tdh g ok Td T ﬁg &
fd=Ti®; HURM: €3, -4) W A2, 1) &, Al g &l Bsar < = gl

':‘\."E cm [ 5\,"51‘25‘:?['

, 23 cm [ 24/3THT

3.3cm/ 3%
4. 6cm / 6@1?[

Correct Answer :-
':‘\."E cm [ f‘\."'i AT

11) The area of a rhombus is 21cm?. If one of the diagonals is 6¢cm, then the other diagonal is

m_rg./w?ﬁﬁﬂmamnﬁ%a}mwﬁwm#ﬁ%ﬁmWaﬁ
|

1. 7cm/7§1ﬂ



2.4cm/4@'5ﬁ
3. 80m/8@'5ﬁ
4, 9cm/9®7ﬂ

Correct Answer :-

. 7cm/7@|7:ﬂ

12) 1f a = 4 and b = 3, then the value of aP + b2 = ./d@a=4Tdb=3% @
aP+b2 HTHA = gl

1. 127
2. 145
3. 137
4. 136

Correct Answer :-

e 145

13) Sides BC and CA of triangle ABC are produced in order, forming exterior angles £ACD and
2BAE respectively. If ~ACD = 1059 and 2ABC = 589, then ~BAE = | BYst ABC 31
AP YSITE BC YT CA HHRI: IIISHIVI LACD and ~BAE &1 fAuiur &<t &1 afe ~AcD = 1050 Td
2ABC = 580 8, dt ~BAE = o]

1. 1259
2. 1339
3.109Y
4.117°
Correct Answer :-

. 1339

14) The enrolment of a school during 5 consecutive years was as follows:

1490, 1840, 2100, 3600, 2520. The mean of the enrolment of the school for this period is
. | AR Ui" 96 & R, TP fAemed &1 e FErgar or:



1490, 1840, 2100, 3600, 2520. 9 3faf¥ & fore faemed & AHIET ST HIA gl
1. 3220
2.2310
3.2140

4. 1980

Correct Answer :-

« 2310

Topic:- General Logical Ability

1) A bullet travels at 750 m/s. How long will it take to travel 1 km? / gﬁ? 750 H/A R I

Fdl 51 98 1 fot e A & ferg famn wg o
1. 133 secs /1339

2. 1.5secs /159

3. 1.4secs/1.49

4. 12secs/ 129

Correct Answer :-

e 1.33secs/ 1.33 @

2) In a certain language, fil wil til means tell them now; wil skel feil means now and then. Which
is the word for wil in that code language? / ot @y ﬁ, fil wil til HT Hdddd % tell them
now: wil skel feil 1 HAAY & now and then) 39 B1S HTNTH wilP forT H19 1 21 82

1. tell
2. them
3. then

4. now

Correct Answer :-



3) Two numbers are in the ratio 3:5. If each number is increased by 10, the ratio becomes 5:7.
The numbers are: / G W@ITE 3 : 5% JUTd A 8 | A TAD TWAT 10 9P TT St ol 3, Y
3T 5 : 7 9 ST 8 | H&=TU B

1. 12,20
2. 15,25
3.3,5

4. 18, 30

Correct Answer :-

« 15,25

4) Three different containers contain 130 /, 442 [ and 234 1 of milk, respectively. What biggest
measure can be used to measure all the containers exactly? / o= fafirs s § swan: 130 a‘Z
442 #@13R 234 &t ger 81 Tt urat 1 31 @ gra & forg Fiv @ Gad a3 719 FT FUGT
faar T Tar 82

1.131 /13t
2. 171 /17
3.111 /11l
4.261 /26

Correct Answer :-

. 261 /2670

5) In the English alphabet series, how many consonants are there between the second and the

last vowel? / 3IUSH &R JTe H, gO¥ 3R 3ifa WX & §ta | fra e 82
1. 18
2.16
3.21

4. 13

Correct Answer :-



6) If 18 men can finish a job in 26 days, then, in how many days will 13 men finish the same
job? / AT 18 TEH TH BT BT 26 fE1 | THIE B FFd 7, 4, 13 3TgH I B Bl fa
fo= & wmTw e

1.22 days /22 TaA

2. 36 days / 36 fad

3.25 days / 25 fa

4.19 days / 19 f&T

Correct Answer :-

. 36 days /36 e

7) A room in a house measures 5 m in height and its length is 3 times its breadth. The cost of
whitewashing its four walls at Rs. 2.50 per sq m is Rs. 200. What is the cost of carpeting the floor

at Rs. 5 per sq mv/wﬁwm,“mﬁfﬁslﬁ%aﬁ?wﬁmﬁf,wﬁiﬁmﬁaﬁsw
21 SUP! IR R W YATs H1 B AN 2.50 T U T & RO 200 815F
ufaat f & e A 99 ) &3 foor &1 and = g2

1.Rs. 84/ 84 %
2.Rs. 60/ 60
3.Rs. 72/72%
4.Rs. 50/ 50 %

Correct Answer :-

« Rs. 60/60%

8) If a batsman scored 120 runs which included 9 boundaries and 3 sixes, then what percent of
his total score did he make by running between the wickets? /afe Udh JedaTeT 7 9 A 3R 3
TP FATHR 120 T I91E, Y I fApel & T RsHR 3 Fod WHR F1 fha-r ufaza

qq1g1?

1. 48%
2.50%
3.52%

4. 55%

Correct Answer :-



9) Gullu walked 18 meters to the south, and then walked 25 meters to the west, then 28 meters

to the east. Which direction is he facing now? / I[¢d], SfEoT ot 3R 18 Hex 7@, 3R e ufgm
B 3R 25 WeR 74T, e qd #1 3R 28 Hiew | 3qHT1 44 3@ S I fezm A 82

1. West/Qﬁ’—:m
2. North / 3TR

3. South / &f&for

4. East/ Q4

Correct Answer :-

. East/tl,_:qc

10) Which one of the following four addresses is NOT EXACTLY the same as the one given

below? / F14 f&0 T IR vl & A FI9 91 v 1 33 T ud & UheH JHH 81 82

Private Bag X86,
Halfway House,
Number-1685,

S. Africa

i. Private Bag X86,
Halfway House,
Number-1885,

S. Africa

ii. Private Bag X86,
Halfway House,
Number-1685,

S. Africa

iii. Private Bag X86,
Halfway House,
Number-1685,

S. Africa

iv. Private Bag X86,
Halfway House,



Number-1685,
S. Africa

1. ii

Correct Answer :-

e i

11) The sum of the ages of a father and son is 45 years. Five years ago, the product of their ages
was 34. The present ages of father and son are , respectively. / T e sz 3¢ &t S
BT ANT 45 99 g1 UTT 99 gd, SFD1 3T BT IUFEH 34 YT a1 iR 9 1 I oMy
HH: gl

1.40 and 5/ 40 3R 5
2.38and 7 /38 3R 7
3.39 and 6/39 3R 6
4.36and 9/36 3R 9

Correct Answer :-

« 39and 6/39 3R 6

12) The series given below contains a sequence of numbers. Identify the incorrect combination.
/ < €1 1S e A U o A TeITE SUfRAd € | Tad Hate Ugeng |

2,15, 41, 80, 134

1. 41

2. 134

3. 80

4. 15

Correct Answer :-

. 134



13) What is the value of y in 2x+y =29, 2y+z = 34 and 2z+x = 152 / 2x+y = 29, 2y+z = 34 3R
22+x = 15 y T T HIA 872

1.3
2.4
3.7
4. 15

Correct Answer :-

« 15

14) If BOLSTER is coded ANKRSDQ, then how is ANKDSRQ coded? / ‘.T% BOLSTER 3|

ANKRSDQ 9 HIf&d forar Sirar 8, a ANKDSRQ Y $/ Sifsa far S
1. BOLETRS
2. ZMILRQP
3. ZMJCRQP
4. OLBTRES

Correct Answer :-

. ZMJCRQP

Topic:- General Science

1) Uneven heating of land during winter generates winds from colder northwestern areas. These
bring rainfall to Tamil Nadu, parts of Andhra, etc. These are the . qﬁ"ﬁ%

R YA BT AT A1, 38 IR UfRdt &5 & 5aT¢ S ol g1 3 afyerg, iy &
Po R dauiardi €13 g

1. advancing monsoon / dedl g3 HITY

2. southwest monsoon / G180 Uf&H RIEESG
3. retreating monsoon / ﬁéﬁ:ﬁw
4. none of the above / 3TH ¥ ®I5 g

Correct Answer :-

« retreating monsoon / ﬁaﬁ:ﬁw



2) Warm blooded animals are those which ./ o yroft dg ﬁ% %
|

1. have cold blood in them / FSFH 3GHATY fﬂ?ﬂ %
2. have warm blood in them / ToFTH 7 Xad BIT 5|
3. change body temperature with the surrounding / S gfaer & 1Y TRR & YA Pl dGad gl

4. maintain constant body temperature / ST FARER YRR BT dTgH A SEILY 3 %I

Correct Answer :-

« maintain constant body temperature /S FARAR TIRR &1 d9HH d-u 3 %l

3) Identify the precipitation reaction. / 3rgeyur fuferar &t ugar H3|

1. Hydrogen + oxygen — water / 6I$§\I\)1-| + RIS — od
2. Sodium + chlorine — sodium chloride / MSTH FARMA — JSTH a'F‘hTIE_’S

3. Sodium chloride + silver nitrate —silver chloride + sodium nitrate / FSTH dﬂ\lilss + e

Ag¢c— RicaR FIRSS + Hifgaq Ag¢e

4. Calcium carbonate — calcium oxide + carbon dioxide / W $r®ﬁ€|€ — %%zrcm 317@133 +
HTa SATTSS

Correct Answer :-

. . . . . . . . \ (\
o Sodium chloride + silver nitrate —silver chloride + sodium nitrate / @%ﬂﬂ dIRISS + [HedR

g RemR FeRTSS + Wifgaw Argee

4) Reflector in the headlight of automobiles is an example of . /'Fﬁ'E'T—aTB':ﬁ: >

Y (@SAEe) A Wadd ORI

1. concave mirror / Sddd ?Td'UT

2. convex mirror / 3 GUUT
3. spherical mirror / AR GUr
4. plane mirror / FHIA gy

Correct Answer :-

« concave mirror / 3ddd ?Td'UT



5) The depletion of water table is due to ./ OoTe &R hT A& &

SR AT 5|

1. increased grazing / ElTI_st G q@

2. increasing rainfall / aa‘cﬂ E_S; CIRR
3. scanty rainfall / 3¢ CLl

4. soil erosion / Hal UG

Correct Answer :-

« scanty rainfall / el guf

6) The paws of a polar bear are flat and broad. This is an adaptation which helps the polar bear

to ./ YA HTY & Ul TUC 3R NS Bl 7| T8 TP SIF A ¢ ol YdId U Y
H Hee BT |

1. walk on ice / ¥ TR @

2. survive the cold climate / 6% Iﬁﬂﬂ @ a%[ QB%r

3. protect itself from predators / Y B RG] V&1 HeA
4. swimming / RIDL

Correct Answer :-

o walk on ice/aﬁ?tﬁaﬁe{

7) Which one of the following irrigation methods is useful for sandy soil? / Frafafea ﬁ’ﬁl’l’s‘

faftral & & el firgt & forg -+t faftr Suantt 32
1. Basin irrigation / @Uﬂ-ﬁ?ﬂé

2. Sprinkler system of irrigation / m'lg Gl i?95,d’>|d AT
3. Canal irrigation / -IgX ﬁﬁﬂg

4. Furrow irrigation / ﬁ ﬁﬁﬂé

Correct Answer :-

« Sprinkler system of irrigation / ﬁﬁﬂ%‘ Gl Wﬁ Ugfd

8)



Thin wires of which of the following metal is used for making the filament of electric bulbs? /
foorelt & aeal @1 fhae a1 & forg e urg s A & 5w urg & uad arl &1 33U
foar s 32

1. Tungsten / S
2. Silver / aﬁ
3. Nichrome / ﬁﬁ’q

4. Copper / ATl

Correct Answer :-

« Tungsten / TR

9) In animals like sponges and hydra, transport of food and oxygen is done by .

W%ﬁ?mﬁﬁmﬁm‘fﬁ,mﬁmeﬁ?mwvﬁaﬁ & grRTfopar
ST 8|

1. plasma only / 4% Faa wreA

2. both blood and plasma / Xdd 3R e aFl
3. water only / % Faa gt
4. blood only / T drad Xad

Correct Answer :-

« water only / % Faa gt

10) Rhizobium (bacteria) which fixes atmospheric nitrogen is found in nodules growing in

./ ATgSfeEH Qe sife argvisda Ageo & fuia $3d €,
H Fed Ui & ume sird g

1. roots of leguminous plants /Wﬂ?ﬂﬁﬁﬁ@@f

2. fruits of the leguminous plants /W&fﬁ%qﬁﬁ
3. stem of Leguminous pIants/Wﬂa'Rtﬁ%ﬁa?a%[

4. leaves of leguminous plants /Wﬁﬁ?ﬁaﬁm

Correct Answer :-

« roots of leguminous plants /Wﬂ?ﬂ&fﬁﬁ@@f



11) In the retina of the eye, the area having no sensory cells is called .1 3T P 3fer

U, 98 & oTel I3 Aad HifkrepT 71 e, 5/ PEl T ¢ |
1. darkspot/TI—'E;QT%{.’Q,r

2. blind spot / 3{941%@;
3. cornea /EI’TI'EFQT

4. iris / 33T
Correct Answer :-

« blind spot / 3{&fdg

12) During a clear night sky, bright light streaks are often visible. They are called shooting stars.

They are actually ./ TP WY A & SR, TR AT A Swad UHT Uit
faars 3t 81 56 godT g aRT HeT WaT 81 4 Iad | GOk

1. comet/m

2. planet / Ug

3. falling stars / R4 E'Q?lﬁ
4. meteors / Jeh]

Correct Answer :-

e meteors / 3eh]

13) To and fro, or back and forth motion of an object is known as: /ﬁw & FR-JUR AT

M-S F 73 HY 59 719 T ST =TT 8-
1. Time period / FHT 3fafy
2. Vibration / U9

3. Frequency / &nqi%r

4, Amplitude / 3TIH

Correct Answer :-

« Vibration / HU

14) Nucleus of a cell is filled with a semi-solid substance called ./ Tdb BIRABT BT

e T 3r-31 verd A T gar 2, ord e ST 3 |



1. nucleoplasm / PGH G
2. cytoplasm / DIRBIGT
3. plasma / WITHI

4. protoplasm / SlidGed

Correct Answer :-

. nucleoplasm / HEDHEH

Topic:- General Computer

1) Which device is required for the Internet connection? / P AT IUBIT (%ﬂ'l?gﬂ') mﬁ? PR
& forg smaza® 82

1. NIC Card / T3S (M) &1
2. Joystick / SR

3. CD Drive / U181 134

4. Modem / TTSH

Correct Answer :-

e Modem /W\I%T[

2) Which corner of the Word window has the zoom control? / TS S PP AP A OH m Eﬁ?lT
G5

1. Upper-left / SHR-S
2. Lower-right / :ﬂ%f-a'lﬁ
3. Lower-left / A1d-aTq

4, Upper-right / SHW-aIY

Correct Answer :-

« Lower-right / RIEXAY

3) Which feature do you use to create a newspaper like document? / E}I’ﬂ?]:a? P G TP SEAR Ca
T & T 3y fore BeaR &1y $3d 82

1. Bullets & numbering / W 3R AT



2. Tab stops RN
3. Tables / SSef

4. Columns / PTAH

Correct Answer :-

e Columns/ ﬁ?‘l’q

4) What do you call ‘a collection of character and paragraph formatting commands’? / ‘PYae MR

WTITH BTHIST TSN & THE' B FT Hed 82
1. A template / b =3[ [d
2. A boilerplate / Uch FIRTIC

3. A style / Uch ¥C[gdd
4. The defaults / TShlec

Correct Answer :-

o A style / Udh ¥IIgd

5) A computer program that converts an entire program into machine language is called

a/an . / 98 SR WRITH it Ueh Jvgul Miure &Y a=fs Hrar # uRafda sar g, e
Fgardr gl

1. Simulator / G‘W W?T)

2. Commander / PHISR

3. Compiler / YD (HHTZAR)

4. Interpreter / HTHTORBR (SefUceR)

Correct Answer :-

« Compiler / GhdD (HHTZA)

6) NOS stands for: / NOS BT Tﬁw %:

1. Node operating system / 18 s Ren

2. Network operating system / Fead TR Red
3. Non-open software / 1-3{09 AedaR

4. Non-operating software / qﬁ-w FVI'CIEa'CR



Correct Answer :-

» Network operating system / Jegm SHTRfeT ey

7) To insert slide numbers: / IS ECREal ETHT:.F D "%I'E:
1. Choose Insert >> Slide Number / gt\x:ré ﬂef >> TABS R

2. Insert a new text box and select Insert >> slide Number / Uch U R JIag P $r~HCr B g gT\Ercf ﬂef >>
TAZS R DI JAde B

3. Insert a text box and select Insert >> Page Number / Udh R Siag DI 5--{-ICr P od ET\ERF ﬂef>> Ul FaR

4. Insert a textbox and select Insert >> Number >> PageNumber / T TR S B gt\zré P E] gt\q?f ﬂ%f >>
FaR >> U &R

Correct Answer :-

o Insert a new text box and select Insert >> slide Number / Uch qU R I B E'g"{-lcr B Td 'E'F\‘TCF ﬂef >>
HSS ok Bl Jalae B

8) Which is the best view for getting your thoughts for a MS-PowerPoint presentation out on the

%omputer‘r/@wwﬁﬁ%ﬁm%mmﬁﬁﬁmﬁﬁmwaﬁ$mmmqﬁqm

1. Outline view / 3T3CCRT &

2. Notes page view / '_-hw Ul =2

3. Slide view / &I1RS Y

4. Slide sorter view / TS X q

Correct Answer :-

 Outline view / 33T Y

9) In Excel, you can group non-contiguous worksheets with ./ t{ﬂ'\ﬁﬁ ﬁ,

3ATY gRRYA (AP I Road) Thite of 7 %mmﬁammﬁ%l
1. The ctrl key and mouse / Eb_@?faﬁ 3R A3

2. The shift key and the mouse / TRT7E &1 3R A3
3. The alt+enter key / 3fTee+UcR Gl

4. The group button on the standard toolbar / w3 NI & qu &c

Correct Answer :-



» The ctrl key and mouse / Eb_@?f P SR A

10) In Excel, what term describes a background that appears as a grainy, non-smooth surface? /

IR H, ﬁ?mww AT feEm arat SFUrSS Y R Hear 82
1.Pattern/a37'f
2. Texture / CHITR

3. Gradient / alé Q' C
4. Solid / Tifers

Correct Answer :-

o Texture / CRIR

11) In Excel, Rounding errors can occur . Qﬂ'\‘lﬁ ﬁ, TJh ﬁﬁ'ﬂT Epf TPt %

1. because Excel uses hidden decimal places in computation / Fifch Yo, 0T | fo50 gU aR[Hd YT
SUIRT Rl 5

2. when you show the results of formulas with different decimal places than the calculated results / ST SHTJ

BIHa! & TRUITAT &1 70T fpT 7T gfRoma &t g1 & fi=1 gxmad I & 1Y g2id g

3. when you use multiplication, division or exponentiation in a formula / SId 3{TJ Udh qv—\ﬁi?l'f H UI, IGLISE
g1 YTdih BT IUIRT Hd %:|

4. when you use addition and subtraction in a formula / & Y U qu\llIi?lT | \_rhg 3R g BT UG HRd
gl

Correct Answer :-

» when you use multiplication, division or exponentiation in a formula / 51§ 3{TJ U LhTinﬂI | 1T, IERISE!

T YTdich BT STANT HRd g |

12) Which of the following will NOT advance the slides in a slide show view? / IGE| A HH RN IE]

XN oY # WATgS! DI ST g1 TgrATm?
1. The space bar / T dR

2. The mouse button / HI3Y ofcq

3. The enter key / q‘& 3|

4. The esc key / esc Gl

Correct Answer :-



e The esc key / esc Cil

13) Which of the following is NOT on Home ribbon in MS-Word 2007? / fgdaa CaC| @W-?ﬁ;’

2007 & g9 a9 TR 781 g1 82
1. Font color / I X7

2. Change Style / ¥Igd dadi-l

3. Font/ I

4. Columns / BTAH

Correct Answer :-

e Columns/ Hiaq

14) In MS Word 2007, you can open the Highlight Changes dialog box by choosing Track Changes

from the Menu. / THTY T8 2007 #, 3T A | P Ao PT 999 P3P gTedATSC
IO ST ST Wi b 2 |
1. Page layout/aTTTF"T&I'IB_Cr

2. View /
3. Inser‘[/gr\‘:l—c‘F
4. Review / ﬂal

Correct Answer :-

» Review / ﬁ—oq

Topic:- Mining Engineering

1)



The following perpendicular offsets were taken from a chain line to
an irregular boundary. The area between the chain line, the boundary

and the offsets is: fﬁmmﬁmﬁﬁmm@ﬁ
FHfeafaa T&T & omar 73 3 s5Eer 1@, 9 3R AeHer F
&T=r T &% g9

Chainage 0 10 25 42 60 75
/ST (m)

Offsets/3iTpa= | 15-5 | 262 |31.8 |256 |290 |315
(m)

1.19.765 Ares / 19.765 T
2.20.612Ares / 20.612 TXW
3.20.892 Ares/ 20.892 TR
4.20.765 Ares/ 20.765 TSl

Correct Answer :-

e 20.765 Ares/ 20.765 Qia.

2) Point of tangency in a curve is the ./ 5P § TiRfdr &1 ﬁ'g" gaT gl
1. location of the curves start point / dsh & IR ﬁg CIRSIE]
2. location of the curves end point / dsh & 3ifeH ﬁ'g; CaRSIE]

3. curves midpoint / déb DT HY ﬁ_g’
4. point joining two tangents of a curve / Ioh DI gl TR X137 Bl T H G“S_ eI f%l_g; W

Correct Answer :-

» location of the curves end point / deb & 3ifeH ﬁg CaRsIE]

3) Name the method in which the deflection angle is equal to half the angle subtended by the arc
at the centre, and it is assumed that the length of the arc is approximately equal to length of the

chord. / 39 faf &1 19 gaTsU for# faae #1v1 917 gRT g W 3idfd o1& g &
IR gia1 8 3R Tg A forar siran § f a1y &t s SWRT ShtaT &t TS & SRR 2|

1. Two-theodalite method / %— mﬂﬁg fafer
2. Rankine’s method / W fafer



3. Jaderin’s method / STa i fafy
4. Tacheometric method / W?ﬁ'q fafy

Correct Answer :-

« Rankine’s method / W fafer

4) Name the equipment used in mining placer deposits. / & W Fgu s ﬁﬂ! Ugdd LE|
BT A ddIgu |

1. Riffle box / Rtbd sl
2. Auger / 3R

3. Wagon drill / 37 f&@
4. Rope saw / 1T TT

Correct Answer :-

. Riffle box / N d Siqg

5) Every plan or section should be submitted on a scale having a representative factor of: /
YD TIHT HYAT IS Dt Gba W aft 51 w1 Tifge w9 39w g wfafAfufes
TS A 81

1. 1330:1
2. 1200:1
3.1100:2

4. 1300:1

Correct Answer :-

« 1200:1

6) In which of the following baseline measuring method, tripods are used to hold the measuring

tape? / A & A MR @1 WY F1 98 A F19 At 8 ord vrue 2u ) 9@ & forw
faurd &1 SUaT fosar Sirar 82

1. Wheeler’s method / %pﬁﬂ fafer
2. Rankine’s method / W fafef
3. Hunter’s short base_n}ethod / BET fo "~‘Th_cc o9 fafyr



4. Jaderin’s method / @lgiiq fafyr

Correct Answer :-

o Jaderin’s method / @éi?q fafg

7) Stone dust barriers consists of: / YUY ?-‘Iﬁf RNUP ﬁm;r I 3-1% %

1. Each plank is placed on above the other and loaded with stone dust. / Odeh el QH\Q U] ‘é'\I(‘II

T 3R TR effer & i |

2. Shelves placed side by side and loaded with stone dust. / W—Qﬂi & T H T [UGIEY 3R
TR Yfer I HiRka |

3. Shelves placed side by side and each shelf consists of planks placed on above the other and loaded
with stone dust. / Uh-gER & §7Td B W U AT 3R Yd® dlh AR & 3HUR W §U 3R TR
gfer I wiRa|

4. Shelves placed side by side and each shelf consists of another shelf placed on above the other and
loaded with stone dust. / Th-gER & §7Td H W U AT MR YA b AR P 3HUR W §U 3=
dTe o &1 81T & 9 TR offel & iR

Correct Answer :-

« Shelves placed side by side and each shelf consists of planks placed on above the other and loaded
with stone dust. / Uh-gER & §7Td B W U AT 3R YD T AR P BHUR W §U 3R TR
¢t o yIiRa|

8) In an opencast mining blasting, ground vibration occurs due to: / ﬁ'q{'l' RO L] Qﬂm ﬁ,
YH U A PRI A a1 8 -

1. Low current / @ H YRT
2. Poor stemming / WRTd T

3. Improper delays / &ﬂﬁlﬁ G|
4, Excess charge / TP AT

Correct Answer :-

» Excess charge / 3D AT

9) In an opencast mining blasting, poor stemming results in: / ﬁﬁ q-d ﬂﬂm ﬁ, W
R Ft ufvorfa A it 2 -



1. Vibration / @ HJ

2. Misfire / {qThIc

3. Blown-out-shot / fdtd fdwmle
4. Cut-off-shot / 35 QIC

Correct Answer :-

« Blown-out-shot / fawd fawhie

10) In an opencast mining blasting, improper delay results in: / ﬁﬁ - QFIT%"T ﬁ,
UG ¢ & URUTARGEY I8 g1l o

1. Vibration /

2. Misfire / 3{qEhIc

3. Blown-out-shot / fathd faxthie
4. Cut-off-shot / fawsqen Qi

Correct Answer :-

o Cut-off-shot / ﬁw e

11) In an opencast mining blasting, misfire occurs due to: / ﬁqa G SRS H Srapie
e & PRUTgAT 8:

1. Low current / H YRT
2. Poor stemming / WR[d XA

3. Improper delays / &Iﬂ%lﬁ Gl
4, Excess charge / TP AT

Correct Answer :-

o Low current / ®H URT

12) In a curve surveying, two or more simple arcs that turn in the same direction is known as

./ Iep FA&T0T §, &Y ST &1 | iR WA 919 &) WA 3w # qudit €,
FEard gl

1. simple curves / HTHI] d¢h



2. compound curves / Igad dsh
3. transition curves / HshHUI dsh
4. reverse curves / SqshH deh

Correct Answer :-

« compound curves / Ggad dsh

13) Ratio of water and emulsion in hydraulic fluid is ./ ET?{@W GRGE: RS R 4
TR T 3T gar gl

1.99:1
2.50:50
3.95:5
4.25:75

Correct Answer :-

« 95:5

14) A resistor of 5 is connected in series with a parallel combination of 6 and 3. Find the supply

current taken from a 35V DC source. / 6 31X 3 mmﬁmﬁﬁ%mma?
1Y TH 5 TR &1 ufariy Avft 5w # S[ST1 g3 8] 35V & DC Hid gRT & 1 Yfed ¥RT 91
Ef§||\=rIEI

1. 4A
2. 6A
3. 7A

4. 5A

Correct Answer :-

15) Prediction of coal bump can be done by which of the following test? | B aﬁrﬁv@ﬁ Cd|
ST fFd THYeor gRT T I et 872

1. Radial test / ST TI&foT
2. Dilatometer test / SIdlcIHICR TRIeor



3. Drilling yield test / TSTeiT diee ultefor
4. Brazilian test / ST URI&0T

Correct Answer :-

« Drilling yield test / fSfciT dieg ufigm

16) Mines Act does not apply, when there is an open cast working, the number of persons

employed on any one day does not exceed ./ @e siferfray ﬁﬂlqﬁiﬁ?ﬂ %, Wﬁﬁ
WWWW%,WmWﬁ?WﬁWWWﬁW q SR T
I

1.70
2.80
3.50

4. 60

Correct Answer :-

17) If in any given plane, one end of a column is unrestricted, its unsupported length ‘L’ shall

not exceed /Wﬁﬁquaﬁﬁ,ﬂﬂﬁﬂwmmiﬁﬁ,?ﬁm
yAfda @S v 9 3iftrep 781 gl Tieul

1. 50b% /D
2.25b%/D
3.100b2 /D
4.75b% /D
Correct Answer :-

« 100b2/D

18) For Indian coal mines, the maximum allowable concentration of respirable dust containing
more than 7.5% free silica and less than 10% free silica in mg/cubic meter is: / YRA S Iadr
@l & fore, waefta e R 7.5% & 3ifire qopa fferet iR 10 wfa=a & &9 qod
Raferet finm.a= . g1t 8, 9t siftreraw s Tigar fA gl 8:



1. 4.0
2.2.5
3.2.7
4.2.0

Correct Answer :-

« 40

19) For a 150 m long chain conveyor, the component of power required to move coal against

gravity along an inclination of 15° is 5 KW. Hourly capacity of the chain conveyor will be: / Tdh

150 Tt T §TAT AED DI TS 90 P (A5 [HUl PIIA B ghS Bl 15° & HIVTH 6 B
forg 5 fereitare =fd 9 seva gt B, yaan ares @t ufa b Ft erman fAeg grft

1.47.2ton/47.2¢cH
2.34ton/34¢cH

3.13.1ton/13.1 ¢4
4,37.8ton/37.8¢CH

Correct Answer :-

e 472ton/47.2¢CH

20) For a coal dust to start an explosion, the dust should be in the form of: / YHIPT > AP

1. Mixed with stone dust / TRIR & ﬂ:Uf o et gl

2. Mixed with water / OT=t & el gl

3. It should be present with the coal bands / I & §Y 7 I
4. Cloud in the air / 8d[ H dlqd

Correct Answer :-

« Cloud in the air/ aT H dIed

21) Connecting surface and underground survey to the same baseline or permanent reference

line is known as /Waﬁﬂ{%ﬁﬁ&mﬁwﬁmmmawwﬁ
WﬁWﬁaﬁsﬁm‘ | ST St 21




1. Chain survey / §dl A&l
2. Stope survey / WY a&fur
3. Triangulation / IECAIERLY

4, Correlation survey / JH& gdefur

Correct Answer :-

« Correlation survey / & e

22) Energy is required for the movement of charge from one point to another. In order to move
electrons along a conductor, some amount of work is required. The work required must be
supplied by a force provided by a battery or a similar device which is called as ./ STa=T

¥ U g A N g a0 WF=R & e Solf @Y smazgsdr 1 2| 59 »H & ards) &
SRT SATEA! 1 i 7 F T, 0S4 I Sraxaea1 8141 8| 98 ST fpdt 328 aran
3 VY B od gRT 3RIUd 91 9 "uA glaT 8, 98 99 Fgaargl

1. Blectrostatic force/ fRIR ﬁgq?r ocl

2. Electromotive force / ﬁ@ﬂﬂ dlgdh ddd
3. Centrifugal force / 3AUH-1T I

4. Capacitance / IIEG]|

Correct Answer :-

« Electromotive force / {dgad dIgd §d

23) Match the following:/ & fam = ®% -

Equipment/ T Component/ ¥Ch
P. Scrapper/ Toh9T 1.Dribble belt / fZaer o<
Q. Dragline / STTalTST 2 Dipper stick/ BT &

R. Bucket wheel excavator/ 3.Fair lead/ FAT oIE
T T TFHHI

S. Rope shovel / TT M=l 4. Bowl/ STl

1. P-2,Q-4,R-1,5-3

2. P-2,Q-4,R-3,8-1



3. P-4,Q-3,R-1,S-2
4.P-4,Q-2,R-1,8-3

Correct Answer :-

. P-4Q-3,R-1,S-2

24) A 10,000 kg locomotive runs at a speed of 3 m/s along a level track. The co-efficient of
adhesion at the track is 0.23, and the rolling resistance of the locomotive is 90 N per 1000kg. The
maximum power available for haulage the train in KW is: / ThHHT 237 YR TDH 10,000 .
BT ¥d 3o 3 HIA. B IR A SISd1 8] ¢F A HUD BT IHBT THUT UM 0.23 § 3R ¥
;ﬂ%ﬁmﬂ 90N Tfa 1000 fFum 8| 29 F gars A wgaa Siftrraw xife fPanare &

1. 67.7
2.67.1
3.40.7
4.65.0

Correct Answer :-

« 65.0

25) Minimum thickness of a flat slab is ./ aHad Ry B gAaH Hierg
ol

1.25 mm/ 25 ﬁﬂ:ﬁ
2. 100 mm / 100 &t
3. 125 mm / 125 ot

4, SOmm/SOﬁIIﬁ

Correct Answer :-

« 125 mm/ 125 et

26) No drinking water point should be prostituted near any washing place, urinal or latrine

within a distance of /m,qgmmmﬁwﬁmﬁﬂtﬂﬁ%uﬁ%mﬁ
i SUL AU o

1.8 m/8 Hiex



2.10m/ 10 HieX
3.6m/61:"€?
4.12m/ 12 Oiex

Correct Answer :-

« 6m/6HR

27) 1In case of shaft, the finished diameter of a shaft varies from . / XITYE T SifdH
315 gl

1.4.1 mto6.5m/4.1 H. ¥ 6.5 9.
2.45mto62m/4.5H. 62T
3.42106.7m/42 0. Y674,

4.43mto64m/43 9 e64d

Correct Answer :-

« 42t06.7m/ 428 679

28) In case of a drivage, which of the method is similar to stull method? / %aﬁ o a4,

o1 9 faft o faftr & o gt 2

1. Jora raise method / STRT ¥ fafey

2. Peg method / PUREIR]

3. Three compartment method / ot rTeHe fafdr
4. Alimak method / TeTHe fafdy

Correct Answer :-

« Peg method / o fafe

29) An AFC of length 114 m runs at a speed of 0.535 m/s. The mass of chain and flight is 54
kg/m and the co-efficient of friction between the chain and trough is 0.33. What is the power

needed to drive the empty conveyor? / 114 . mﬁfaﬁ AFC 0.535 H1./4. aﬂinatnim?ﬁ%l
B 3R TATSC BT Soad 54 fHun.Aft 8 3R 91 3R a1t & ot wfor uriep 0.33 8 | R
qEP DI g & g smazas fad Ht amE fba-t gril?

1.25.74 kW / 25.74 fpatiare



2. 6.94 Kw / 6.94 foodidre
3. 10.68 kW / 10.68 faiiare
4.21.36 kW / 21.36 fooaiare

Correct Answer :-

. 10.68 kW /10.68 foraiare

30) No person shall light a fire or permit a fire to be lighted in any opencast working, within a
distance of from any entrance to a mine. / ¥ Hglqd | uﬁm [-1K3 > * ETCQ ﬁ, g@f
R R Bt o1 1 3T ST ar ST e 1 Srgufd A8 3|

1.16 m/ 16 |l
2. 15m/ 15 |
3.20 m/ 20 |
4.10 m/ 10 |1

Correct Answer :-

e 15m/ 159t

31) An inclination of a bed from horizontal dip observed in any direction and necessarily lesser

than the full dip is called as /W‘J—ﬁ%mﬁ&ﬁﬂ’rmaﬁ%‘&ﬁ?qﬁ?ﬁrﬁ
SifraTd U & B et e A A A AR B HEA I

1. Apparent dip / STY Afd
2. Fault/ Ff¢

3. Strike / ¥ISP
4. half dip (instead of full dip) / 3¢ A (G Afd & o)

Correct Answer :-

» Apparent dip / ST Afd

32) Two curves with same radius, which are opposite in direction is known as .

T A ad gl aw REe R udias, 2020 FEURAEHEREl
1. compound curve / GG dch
2. transition curve / [AXITAR deh



3. reverse curve / [dURId dch
4. broken back curve / lrﬂ-qg‘ﬁ deh

Correct Answer :-

. reverse curve / TAURId 9k

33) Super- elevation can be calculated by the formula: / garel SAGT B TUMT ﬁﬂ:lfl el &
GRT &Y ST Hehell 8-

1. Av/gr

2. sz/gr

3. Vzg/Ar

4. Rv/Ag

Correct Answer :-

. AVZ/ ar

34) A series of offsets were taken from a chain line to a curved boundary line at intervals of 15m
in the following order: 0, 2.65, 3.80, 3.75, 4.65, 3.60, 4.95, 5.85m; the area between the chain line,
the curved boundary, and the end offsets by trapezoidal rule is ./ THEE] P it
YT ¥ I Ieb URATHT P 15T & 3iaRTal | o Hargar ot 78 of; 0, 2.65, 3.80, 3.75,
4.65, 3.60, 4.95, 5.85 Hiex; IuarETg a0 & AR §aan 3@T, 95 JHT1 9T 3iqd
JATHAC & AYT BT JAGA A gl

1.395.81m?/ 395.81 Hi2
2.394.87m? / 394.87 12
3.392.81m?/392.81 Hi2
4.393.41m?/ 393.41 Hi2

Correct Answer :-

. 394.87m2/394.87 HI2

35) William’s line method is used for measuring ./ faferan &1 Yaita fafa &1
TART P AT P fore forar Srar g1



1. SFC
2. 1P
3. FP
4. BP

Correct Answer :-

« FP

36) Brake terminal efficiency is given by: / 9% eftia ot &ar ﬁTFT & gRT < STl B:

BF
Mass of fuel

Sec

= Calorfic value

Indicated Power
Mass of fuel

2. Sec

» Calorific value

3. BP/IP

4. Mass of fuel/ BP

Correct Answer :-

Indicated Power
Mass of fuel

Sec

x Calorific value

37) Cooling power at a work place is measure with the help of which of the following? / it

PRI W Mda fed &1 fhad gRT AT ST 22
1. Hygrometer / smjﬂa

2. Kata thermometer / pICT un‘rﬁﬂa
3. Aneroid barometer / QER;I%S W
4. Alcohol thermometer / 3chIgd YHMHICY

Correct Answer :-

« Kata thermometer / PICT W'ﬁ:ﬂa



38) Contour map is not used for which of the following? / ity aARE A A 3 few i%m
TP T8l gid?

1. For determination of intervisibility between two points / al ﬁﬂ\’:ﬁ & S SRR & Ayl &

2. For shaft centering in mines / WM QMU b H<1hrul & forg
3. For measuring drainage areas / 3Udlg TS AIYH & fam
4. Drawing sections / Hﬂ“—ﬂ"ﬁ & 3RGUl & forg

Correct Answer :-

« For shaft centering in mines / WM H UM & HSIhR0 & fo

39) In the Coward’s flammability diagram, the percentages of methane and oxygen at the nose

limit are , respectively. / PIATS & SaAARNdT AR ﬁ, 9T WA IR HAT R
3ifeRieT & wferrd shH: Lokl

1.5.0 and 19.2/ 5.0 3R 19.2
2.5.8and 12.1/5.8 3R 12.1
3. 14.1 and 18.2 / 14.1 3R 18.2
4.14.2 and 0.0 / 14.2 3R 0.0

Correct Answer :-

« 58and 12.1/5.8 3R 12.1

40) No shot shall be fired by a fuse of length less than . | ST GIRT 3T ol @ gdbdl
g Sadigdt A PHAT|

1.21m/2.1 9
2.3.0m/3.0 .
3.22m/22 .

4.12m/12 9.

Correct Answer :-

« 12m/124



41) Degree of Bump liability >5 indicates: / §7 JHTodT 1 fS;M >5 ﬁTIFT &1 Hbd HRd! 8:
1. Moderately liable / 3 I

2. Slightly liable / 3T T

3. Not liable / BT GHTH gl

4, Severely liable / fafay Turegar

Correct Answer :-

« Severely liable / fafay Tregarn

42) Core of the Earth should be made up of a mixture of nickel and iron of density ./ R

FoswFmuAFadR R FRyvd s RReTa . gargl
1.4
2.8
312
4.16

Correct Answer :-

e 8

43) Basalt is a/an rock. / TeE TP Ad % |
1. Hypabyssal / ST3UTaTS A
2. Plutonic / W

3. Sedimentary / Tl

4. Volcanic / SATQTY@Y

Correct Answer :-

« Volcanic / SATTHE

44) In roof stitching, the depth of the hole are of about .1 3w feef=im ﬁ, g @t TI?TI%
T

1.3.0m/3.0 H



2.1.5m/1.5H
3.2.5m/2.5H
4.3.5m/3.5Hl

Correct Answer :-

« 1.5m/ 159"

45) Compensatory days of rest should be maintained at every mine in WA EGIER: |

fiymF afRe R e v dr@r s anfiul
1. Form G / BH G

2. Form R / BIH R

3. Form F / BIH F

4. Form I/ hIH |

Correct Answer :-

« FormF/WIHF

46) In Indian long wall mines, support resistance is calculated with due consideration

to .1 &9 SR aTelt UReTa @l H, SR ufekiy & HTYR T
ufkeferd ST 31

1. height of the immediate roof / 3THA O d G| G;'_tl'l_sc

2. convergence of the strata above coal seam / PHIIA-TR B SR dd P SRR

3. panel length / 99 T“lm'lg

4. face length / YHY9 FIWT'&F

Correct Answer :-

« convergence of the strata above coal seam / HITAT-IR P HUR ad b SR

47) Which is the fastest rate of quenching media in heat treatment process? / Eﬁ[lﬁ'q JUdR
WohH H A HTEH BT A O &3 BI 91 82

1. Brine solution / SITg- IFNRE
2. Air / dIg



3.0il/dd
4, Water / tI'IT-‘)[

Correct Answer :-

« Water / O

48) Which is the most common gangue mineral associated with galena? / faddsaar

Haffire ATE @fre 987 U | I 4 g 82
1. Sphalerite / THARIZC

2. Jasper / SRR

3. Zinc / TSI

4. Quartz / BICH

Correct Answer :-

. Quartz / BICH

49) Which type of method is rough during the interpolation of contours? / uf@sii & siadeH

& SR ygad e faftr o1 4t 22

1. Estimation / ST ¢l

2. Graphical method / 3oty fafdr

3. Arithmetic calculation / 3f&TIOICYT GRB T

4, Arithmetic and graphical / BT 3R A

Correct Answer :-

o Estimation / 3T

50) Which type of fan is used to suck the air inside the mine? / IERIECIBR:] qa1g e & ﬁ'l'({
P9 YR & 49 &1 TN g1 32

1. Exhaust fan only / ad M U &I
2. Through natural ventilation / W ardd & HIYIH |

3. Both fans combined together / FARIRLEIED Uh Y \SI\I\?JOM

4. Forcing fan only / Had BRI T BT



Correct Answer :-

» Exhaust fan only / FHad e U &1

51) Which type of contour method is most probably used in engineering surveys? / sftrar~ae

Hd&on § Watfire ygad &1 o= arell ufeeeta fafy o <t 82
1. Direct method only / PHad g fafd

2. Lehman’s method / é@ﬁ? fafer

3. Both direct and indirect methods / UI& 3R 3(Ugef a1 faferat

4, Indirect method only / dhad YT fafd

Correct Answer :-

« Indirect method only / Phad YT fafdy

52) Which type of drivage is same as sinking of shaft on small scale? / B TR W T A1

f&ae yeR 2w # RifeT & quE glar 82
1. Raise drivage / Rl E{é’ﬁ

2. Winze drivage / fas Eaﬁf

3. Centre stack method / Hex T fafd

4. Tunnel / cd

Correct Answer :-

« Winze drivage / [CE| %éa

53) Which of the following is the first generation powered support? /g A | BT UYH

W &1 ufaR |uId 82

1. Frame / B°H

2. Shield / XM

3. Chock field / Wb BIeg
4. Chock / AT

Correct Answer :-

e Frame/ s ope)



54) Which of the following is NOT a linear method of setting out simple circular curve? /

HIYRY G2 G3p D1 Ae B & g e 7 |/ i faftr i fafr =i 82
1. Rankine’s method / ¥f~p+ fafdy

2. Radial offsets from the tangent / TR 3G & 3R Hfhde

3. Offsets from long chord / T SilaT ¥ 3ifhae

4, Perpendicular offsets from the tangent / Rl a1 & qHEad hae

Correct Answer :-

« Rankine’s method / W fafer

55) Which of the following method is suitable, if seam thickness is more than 8m regular, dip<

60°, roof and floor is strong and coal is not liable to spontaneous heating with easily cavable

roof? / Ufe Wa Wiers FRafia s Wi A 3iftre g, f¥u<60? 8, B 3R wef Aorga & iR
DT ARIFT & Fagd Bd & A14 Fad: a9 & IwRer! 781 g, ot o & 9 o | fafy

g gl

1. Transverse slicing in descending order / 3R HH S{URY TATS R
2. Inclined ascending slicing / S{Td IRIG! TSR

3. Diagonal slicing / faepuf TR

4. Horizontal slicing / Qﬁlﬁ WE@PT

Correct Answer :-

« Inclined ascending slicing / AHTd 3RIB! TSR

56) Which of the following system is used to work out the reduced levels of points from the staff

reading taken in the field? /ﬁﬁﬁﬂ%ﬂ%ﬁﬁﬁﬁﬁ?ﬁﬁ%ﬁﬁﬁm
F & fore e o 9 o faftr &1 suah forar sirar 32

1. Reconnaissance / 3{TTA&0T
2. Ranging system / gufirur ggld
3. Bench marking / CEREIED

4, Rise and fall system / XISV Q@Wq@ﬁf

Correct Answer :-



« Rise and fall system / RIgVl Qg I L‘qu(lra

57) Which one of the following thick seam methods can be suitably applied for a deposit of any
shape containing both hard and weak coals self-igniting and emitting fire damp, where stability

of wall rock is of no importance? / f&dt +ff SR aT Wﬁﬁlﬂ'@ﬁwﬁmwm
mﬁaﬁﬁaﬁﬁw&gﬁaaﬁuﬁ%m%m wmw%wmﬁaamaﬂé
weqa el 2, Prg & @ et wep WY it Ry o1 SwiT i ot e 22

1. Inclined slicing / QP IS H\ﬂlslrz-i‘l
2. Sub-level caving / qa-cad HIdT
3. Blasting gallery / W@"T IGE]

4. Horizontal slicing / éIIQGT cd H?IT%@PT

Correct Answer :-

AN W

« Horizontal slicing / lIRWIC {-I\Q1I$Ir€-i‘l

58) If the percentage of carbon is increased in materials, then it results in . /ITI% it

e # ST P AT ) ISHT 16T 8, df SHP URUTHERSY gar gl
1. increase in hardness / S RAl q@

2. increase in soundness / FAGISdT ?{@

3. increase in ductility / d=ddl | Q'@

4. decreases in hardness / HARAT § HHI

Correct Answer :-

« increase in hardness / $3Ra| ﬁQ@

59) Cyclone, bag filter and scrubber can be used for controlof  pollution. / dhdld , T

e IR GPRETSP) BIITANT_ UgHUr Qe A v o qpar 2|

1. air/dlg
2. noise / @

3. water / o]

4. soil / Hal

Correct Answer :-



60) In Brazilian test, the rate of loading is ./ Sferfera= q'\&&'I'UT ﬁ, HIRUT &1 [5x4
_ ®El

1. 300 N/sec / 300 g&/4
2. 400 N/sec / 400 <I&-1/4
3. 200 N/sec / 200 <q&-1/4

4. 550 N/sec / 550 <g&-1/4

Correct Answer :-

. 200 N/sec / 200 /4

61) The full form of SSR is: / SRR &T JUf =17 §:
1. Safari Support of Roof/ BRI TUIE 3T =%
2. Systematic Support Rule / enfes quid ©d
3. Solid Support Rating / Iifars guid

4. Steel Support Recovers / d guic Repad

Correct Answer :-

« Systematic Support Rule / fenfes gud = d

62) The expand form of LOX is: / LOX Wﬁ'\‘ﬂﬂ g %z
1. Lithium Oxygen Explosive / fafw siieile fawpies
2. Lithium of Explosive / fowpics @1 forfogw

3. Liquid of Explosive / [d¥hicd &1 dRd

4, Liquid Oxygen Explosive / dXcl JRioH fopicd

Correct Answer :-

 Liquid Oxygen Explosive / dX¢l iRioH faepics

63) The advantage of RCC is: / RCC T dTH %:



1. Mixing, casting and curing / 901 gagie, FuRe 3R AU TR HRAT
2. Shrinkage / Fpa

3. High compressive strength / 3= uifed qﬁl@?ﬁ

4, High cost / 3= oI ld

Correct Answer :-

« High compressive strength / 3= uifed Iﬁ@?ﬁ

64) The rate of increase of temperature with depth is called as ./ TIETI% & 91y

AUAF A g PR Fgardi gl
1. geothermal gradient / -3 HIY YU
2. endothermic gradient / S SHTRITYT Taurd

3. exothermic gradient / SEATEUT TauTd
4. scale / QHMT

Correct Answer :-

« geothermal gradient / Y-GS HUTdT

65) The rate of methane emission can be expressed as a function of: / A I Bl g B

e &y & T § U [P T awane:
1. Coal permeability / PIIS B TR

2. Depth/‘l@?lé
3. Width of working / B B Eﬁ?ﬂg

4. Method of working / Hd B Al

Correct Answer :-

. Depth/‘lS?Ié

66) The excavation made near the shaft to store the broken material is known as .
M & AP ge uardf &1 @@= & fore a=mar mar gt FeaEar gl
1. Slice / ¥Igd

2. Dome /@'ﬂ’q



3. Ore bin / 3R faH
4, Creep/ﬁ'q

Correct Answer :-

« Ore bin / 3R fo=

67) The earnest money deposit of contractors whose tenders are not accepted WALC|

SPHERI & ¢o¥ WIPR a1 fbd WTd 7, 37 FRT STHT R Y=RIMRT |
1. will not be refunded / dTUH :@3[ P Gﬂ'@ﬁ‘ﬂ

2. will be retained for the next tender / 3Tl ¢8I B ﬁ‘lﬁ AP ot GITQTﬁ

3. will be refunded fully / G3I aT9 &R & SITQHT

4. will be refunded with deduction of partial amount / P& 3R BICHR ATTH H dt S

Correct Answer :-

« will be refunded fully / X} a0 & &l ST

68) The art of determining and representing the relative heights or elevations of different points
on the surface of the earth in a vertical plane is known as ./ SR JHad | q?zﬁ
@1 Tag R fafira fagait & arter Sarsal a1 37u+ &1 Fuifva w1 ok uelia o= @t
Sl & ¥q § S STl 31

1. Levelling / TRIHRT

2. Scaling / BICIEE

3. Surveying / Tdefor

4, Correlating / W-WWUT

Correct Answer :-

« Levelling / TRIHRUT

69) The statement algebraic sum of currents at a node is zero is given by: / frfi s w ﬁgqa
URT3HT BT TSRO 9T I §HdT &, 98 $YU 39 gRIT [Ga1 a1 8:

1. Kirchoff's current law / o=t 1 fdgad YR &1 a9

2. Kirchoff's voltage law / fhaI% &1 dlecs fgd
3. Ohm’s law / 319 T FgH




4. Fleming’s rule / TRITERT T 490

Correct Answer :-

« Kirchoff's current law / foh=aiith &1 fdgad 4RI &1 a0

70) The first iron which comes out from Blast furnace is ./ SR ?-I'gpf S dieT g
TS STEX ST 3, I8 gl

1. pig iron / =l qrel
2. wrought iron / dlsd i
3. steel / YUId

4, cast iron / c1d[ f"ﬁ@T

Correct Answer :-

e pig iron / el QG

71) The timber prop is the strongest when the load acts ./ m P g P gIQ
g il @ 99 39 WR IS+ el HR FAArgaR orf #var g |

SN (o

1. perpendicular to its width / 3TD| dlslg & ArEad

2. perpendicular to its length / 3P| Cﬂdl’-:: & qHEad

3. parallel to its length / 3TD| cmu'-:f% ATHTIR

4. parallel to its width / ISP TSTS &b JHHTIAR

Correct Answer :-

« parallel to its width / 3TD| le\'il‘ig% GMHMTTR

72) The interval between the bolt installed and the moment to carry load can be reduced by

using ./ FTRIeTd fh T 71T Siee SR HR 9181 & 3mgul & WYy SiavTa &f A &
SUANT A B4 fHa1 oI Hebar 2

1. cement grout / JHc» MR

2. wooden grout / C10b6_nl & O o

3. polythene resins / gifarfH & 3% 9
4, styrene resins / ﬁl_@:f & I6H I




Correct Answer :-

« styrene resins / ﬁ_@_"f & ISH I

73) The cyclic process in 4 stroke petrol engine is: / 4@37 ﬁg’m ESE o Tepig ufehar ﬁﬂ:[:[

1. Compression — Suction — Power — Exhaust / §UTS — EUILES e - Db

2. Compression — Exhaust — Suction — Power / §UI& — BN — PULE EIIES|
3. Suction — Power — Compression — Exhaust / TYU[ — iR - HUTS - b
4. Suction — Compression — Power — Exhaust / JUUT - Tute - ifdd - Ao

Correct Answer :-

« Suction — Compression — Power — Exhaust / YT - TUie — ik — g

74) The characteristic feature of a fault is such that the ends of the broken strata overlap and
the seam is duplicated along the line of the fault. Identify its type. / Y aﬁ' Cal ﬁﬁ'l'qﬁ &1
Y USR ¢ fb g2 gu ad & RN amgo1ied w34 § 3R Ta1 udta gian @ & Weaw it gfe
a1 W ufafaf srd 8 81 3fe &1 veR us=nfAu|

1. Drift / f$UE

2. Cross-cut / 19 T
3. Reversed fault / TAWRId Ffe
4. Normal fault / JTHIY i%

Correct Answer :-

« Reversed fault / fquid Ffe

75) The type of indenter used in Vicker’s hardness testing method is ./ E@E? G|

98 UPR oraeT Ut fAe &t $oRar uher fafer d giar g, 2
1. Diamond Sphere/mw

2. Diamond pyramid / STIHS § S
3. Diamond cone / STIHE B
4. Ball indenter / aTFr 3' gaq



Correct Answer :-

« Diamond pyramid / STIHS 3 SR

76) The loose ballast between the two adjacent sleepers is ./ &l fawe Wi & qaYqa
forad 9t Sl
1. Cinder / RIS

2. Packing / qfh
3. Ballast crib / STRE fope
4. Boxing / CIESH]

Correct Answer :-

« Ballast crib / aw fopa

77) The various problems related to oil and gas, ground water are solved by: /?I?L ﬂ'\q, Holdl I

oI Siftrpan THRmg fAvA & gRT g &1 ol 6:

1. Electrical method of prospecting / tﬁ&‘l'UT Gl s’é@aﬂ fafe
2. Magnetic method of prospecting / q\g&fUT Gl q@aﬂﬂ fafer
3. Gravity method of prospecting / tﬁ&‘l’UT P Ioecd fafe

4. Seismic method of prospecting / EL&&TUT D YebU Yoo fafd

Correct Answer :-

« Seismic method of prospecting / qéc&rm Edl b U b fafdr

78) The exhaust gases from the engine amounting in all is: / ol gRI1 freTelt oI areft A9Y
@1 o A A {1t @:

1. 0.005 m>/BHP
2. 1.5 m3/BHP
3.0.05 m>BHP
4. 0.085 m/BHP

Correct Answer :-



« 0.085 m3/BHP

79) The Indo-Gangetic alluvial plains have been formed only during the .

YRA-T 98 Sidie @Ml o1 faafor Rk & SR 3T ATI
1. Quaternary era / aﬂ?fn‘s’m
2. Paleozoic era / UTdI &Td

3. Cenozoic era / UTYU[ hTd

4. Mesozoic era / HHDTA

Correct Answer :-

 Quaternary era / aﬂ?fn‘s’m

80) The method of leveling adopted to determine the difference of level between two points at a
considerable distance apart with great precision is known as ./ Tt e §ﬂ W
a1 fargaii & dig & Jav & §H9 & SiaR & IRYIs W+ & fore o=t o areft
iR ot fafy & &Y § S St 71

1. Reciprocal levelling / b H TIRIHRUT

2. Check levelling / STid XRIBR T
3. Differential levelling / SR TRIBRT

4. Cross-sectioning / 1 fayTS=

Correct Answer :-

« Reciprocal levelling / &chH R SRERY

81) The method of leveling adopted to determine the difference of level between two points at a
considerable distance apart with great precision is known as ./ Tl e w R RRua
3 fargall & da & TRl & dHg & 3fdr & IR AT & T Sruarit &+ arelt wiaor
ot fafy & &Y S &1t 71

1. Reciprocal leveling / b H S SNERY
2. Hypsometry / IdIfd

3. Profile leveling / TTHTSd WRIHRU]

4, Trignometric leveling / IECAIERRESNERY




Correct Answer :-

« Reciprocal leveling / b H TARIHRU]

82) The lower flows of the Deccan traps occurs in: / Gdh 3@37'[ CaRTE] YUdle ﬁTF'T i | Eﬂ?ﬂ

1. Madhya Pradesh and Madhya Bharat / H&] TS 3R T HRA
2. Madhya Pradesh and Eastwards / 5% UaR 3R q\a‘ﬁ 3R
3. Bombay and Kathiawar / Ha_‘it 3R Hfdamars

4. Gujarat / 7[IRTd

Correct Answer :-

» Madhya Pradesh and Eastwards / H& TR 3R Uj DI 3R

83) The blasting technique used for controlled throw of overburden is knownas

mﬁua;ﬂmﬁerﬁﬁﬁaﬁwsﬁﬁmﬁmmﬁ%muwaﬁmﬁww
& A & U & W1 T @ |

1. pop shooting / ura Q[!é‘l
2. plaster shooting / WI¥CX Q[!é‘l
3. cast blasting / hTC SATRET

4. coyote blasting / HITIC AR

Correct Answer :-

« cast blasting / PIRC SATRETT

84) The process that sends sand water mixture in underground coal depillaring district is

known as ./ Ufspar <t 1 STt FAryor 1 YftnTa Siad & fawy= o o derdi 8, 98
HEardl gl

1. Coal drawing operation / DA ST%‘T foran

2. Stowing operation / Tifd o

3. Gravity separation operation / J[ocd U{hT[ foran
4, Jigging operation / ISIUUNER



Correct Answer :-

 Stowing operation / Tifd o

85) The minimum quantity of air in a ventilation district per person employed on the largest
shift is: / T WaTa+T &3 § Ui afed gRT Arafiie umEr | fawurfia arg 3t <g=aw amn

1. 8 m3/min/ 8 H3 /.
2. 6 m3/min/ 6 Iﬁ-”/&[
3.5 m3/min/ 5 Iﬁ3/m

4.7 m3/min/ 7 Iﬂ3/&f
Correct Answer :-

« 6 m3/min/ 6 {3/,

86) The first-aid room shall be in charge of qualified medical practioner, where the number of
persons employed in a mine is more than WACKCIG] H HTH B a1el TRI Dt G
& 3Aferd g1 981 UYH IUIR H& BT YHR T aRA Fafedae & ur g4r arfu

1. 1200
2. 1250
3. 1500

4. 1000

Correct Answer :-

« 1000

87) The best suited gradient for locomotive is WEG kg EE & ﬁl"?, qaqd SUYdd
WUl §

1.11in500/500H 1
2.1in16/167 1
3.1in300/300H 1

4.1in6/691



Correct Answer :-

« 1in300/3008 1

88) The amount of coal ejected in a bump may range from ./ ¥h TFPR gIRI FIIA B

T A | el o g dl @
1. 2000 tons/ 2000 €
2. 2500 tons/ 2500 €
3. 1500 tons/ 1500 c

4. 3000 tons/ 3000 C

Correct Answer :-

e 1500 tons/ 1500 €

89) Gondwana Sediments was first studied in which one of the following years? / MearHT

Rrarera 1 ugdl aR 59 91 | ver mar 9
1. 1862
2. 1852
3. 1872

4, 1822

Correct Answer :-

- 1872

90) Acid mine drainage is linked to which one of the following pollutions? / Gl | e

I oIe fh e UguuT &1 FRP 32
1. Air pollution / dIg UgHUT

2. Soil pollution / H&T UgHUT
3. Noise pollution / &< JguUT

4. Water pollution/ Sfef Ug¥UT

Correct Answer :-

« Water pollution/ Scf UgHUT



91) What indication we get when contour lines lie closer? / trh?th%?ztﬂq oq 9T SrafRid
gIdl § df g6 F1 Hbd fierar g2

1. It does not give any indication. / g 0|’>\I$r Iohd '_'@3[ adl |

2. It means that slope of land is steep. / QUPT Hddld %ﬁ ‘;[&[ CARNIR @@ﬁ%l
3. It means that slope of land is gentle. / RUPT Hdcld % fb 31[&[ CARNIGECAL ] % |
4. Tt means that land is flat. / 3HHT AGS & fob YW THAT |

Correct Answer :-

« It means that slope of land is steep. / HPT HdAd % G| H&[ CARNIG] "@33[ % |

92) What does CH, produce when burns in air? / CHy G| CIE 31 SURIfA & 5a= R &

T giaT 872
1. CH,+H

2. CO+CO,
3. CO+CH,

4. CO,+ CH,

Correct Answer :-

. CO,+ CH,

93) What is the speed of side discharge loader? / dIgS %ﬂ?ﬂ\_’f e Bt 91 HT @?ﬁ %?
1.2.5 km/hr / 2.5 fopHl/g.

2. 10 km/hr / 10 foi/a,

3. 1.2 km/hr / 1.2 fobdl/A.

4. 3.86 km/hr / 3.86 THI/4

Correct Answer :-

. 3.86 km/hr / 3.86 T HI/g

94) What is the unit of current? / FAGUd-RT &1 S FT 8?2



1. Ampere / TERR

2. Coulomb / P cflH
3. Hp / Tt
4. Ohms / 31H

Correct Answer :-

« Ampere / TR

95) The rate of flow of charge is known as . en%srmaﬁa'\f ﬁ?ﬂ?ﬁ%l
1. Resistance / IfeRIY

2. Capacitance / YTiRar

3. Electric current / ﬁ@’qﬁ—w

4. Voltage / glees

Correct Answer :-

« Electric current / {dgad-4RT

96) The magnetic bearing and declination of a line were recorded in the year 1906 as S48°30¢E
and 2°00¢E, respectively. If the declination in the year 2006 is 3°00W, the magnetic bearing of

the line is ./ T @1 & a1 fea T 3R feaurd 1906 H HHTT: $48°30°E 3R
2°00’E T §U 1 Tfe 2006 H faaara 3200w &, a1 3T &1 ge@ 19 e g |

1. S45°30¢E / S45°30'E
2. S38°30¢E / S38°30'E
3. S41°30¢E / S41°30°E
4, S48°30¢E / S48°30°E
Correct Answer :-

» S38°30¢E / S38°30°E

97) Mean air temperature in a DC shaft of 400m deep is 28°C and in the UC shaft is 38°C, then
its NVP assuming average barometric pressure in DC shaft to be 750mm of hg is: / 400 . TI?Q'
TS DC XM HT AT I dT9HH 28°C B 3R UC MU H 38°C, A DC XMW | 3Nd

qgHSHIT g§ 750 Y. hg AT HX 39HT NVP A 81T



1. 148.9Pa/ 148.9Pa
2. 148.1Pa/ 148.1Pa
3. 148.7Pa/ 148.7Pa

4, 147.1Pa/ 147.1Pa

Correct Answer :-

« 148.1Pa/ 148.1Pa

98) Mean air temperature in a DC shaft of 400m deep is 28°C and in the UC shaft is 38°C, then
its motive column is: / 400 HY. Tg¥ TH DC RATHE HT ATELH 1Y ATIHT 28°C 8 3R UC TTHE BT
38°C, SPT SATHURUT HTAH SHTI:

1.15.4
2.12.8
3.16.2

4.12.7

Correct Answer :-

e 12.8

99) What is the unit of charge? / TN PT A FT 82

1. Ampere / TARR

2. Coulomb / G cllH
3. Hp / TaUl
4. Ohms / 3119

Correct Answer :-

« Coulomb / cllH

100) In a triangle ABC, the bearings of the sides AB, BC and CA are 60°, 130°and 270°,
respectively. The interior angles A, B and C in degrees are , respectively. / T ﬁ“j\_ﬂ

ABC ¥, YIT3if AB, BC 3R CA & a1 UM 60°, 130° 3R 270° §| A, B3R C &
JATATD IO (3 H) P , B



1. 110, 40 and 30 / 110, 40 3R 30
2. 40, 110 and 30 / 40, 110 3R 30
3.30, 110 and 40 / 30, 110 3R 40
4.30, 40 and 110 /30, 40 3R 110

Correct Answer :-

« 30,110 and 40 /30, 110 3R 40



